C:\Users\rickn\Engineering Express\Production - Documents\Projects\20-26197 - FL17003.1 - Eyewall Armor Fabric Shutter MPS\WP\2020 FBC\20-26197d - FL17003.1 - DWG.dwg

rickn

10/06/2020 - 5:25pm

ONE PANEL CLIP
PER FABRIC PANEL
END, TYPICAL

EYEWALL ARMOR FABRIC SHUTTER

FOR USE INSIDE AND OUTSIDE THE HIGH VELOCITY HURRICANE ZONE

gy,

e\“” e=vvg, by Frank

ONE CLIP PER FABRIC

MAX O.C. PANEL END AT OVERLAPS SEEAIL
SEE SPACING 21
DETAIL T [ PER SECTION
2/1 S VIEWS (TYP.) - SHUTTER FABRIC: NYLON FABRIC WITH POLY OR
f i y | < 0 RO S0V RO PVC COATING (4200 DENIER WARP) 13 X 13 (4200
030, 22000°0% 1ecece%e. ot WM ARSI A
' O O N e N o s DENIER WEFT), OR VINYL COATED POLYESTER
R AR ISR v
CHIHXKHXHKHKHHXIKHXIAK KK KK IKKKKKKKRK TS5 KK KKK KKK KA K FABRIC MESH 35X30 LAMINATE BACKED, TYPICAL
SRR 54 AR KRSIRRRREEELLKL
CKIKKS N7 KA ERIKIRRIILR KKK
KRS S ) RSSSRESEK,
S G (2 CLlve, ONE AT EAGHENDSSS 5 ESSss ALLOWABLE
GRS N 555454 5255 (RSGIREICIEIRER U
’::3:::::3: NCC))\'/I'EE)IZQEEEDTa(E)%-II—EI(IZ\)Ig'?EHDAII-II\_I %%ﬁ@%é%%%% 33‘3‘3‘3‘3‘3‘3‘3‘3‘3‘3‘33 DESIGN PRESSURES
z (K55S ANCHOR SCHEDULES. o (ol ]
5 K KRSt +60 PSF
CHXIHXIHXHIHK KK KK LR KKKIKKIKIKKIKKIK K KKAIETHTHTHT57 570K ERHKHKKHKLHXAHAK KK
= R4 757 7RI BRI
= S S S R S R 55 51X 5% RS -60 PSF
CHXIHXIHKHHXHK KK LRI KK KKK KKK KKK T 575547 S XS TR AHKHK KKK I AX KK
= S ] B
S G R R o] ESISSRRRRIRKN
N oI IIX KRR A5 54 4050 SOS0S0 00000000
= R R RERRRILRZLKS ALLOWABLE
S 77 0% IR
R4 ERIRLIRLRLIERLS DESIGN PRESSURES W /
02030 030700 00 00 0O OO OO NN ) 7 ) 1 ) RO OO 000000
R R S R S A 5 AR (RGGKHKHKIRIRIRLHKS
CRIHKIRKIIIKIKKIIKIIXIIKIKIIKKRPGT ST ST KK IRKRHKIRKIKIKKKS
CHRICHXHHXAKHKIK KK KX KK SKRAKIKKKKIKAKIKAKIKKATETATLTFT57RKA - LRHKAIKHKAHKAIKHKAKAKAKKS
CHIHIHKIHXHHXIHXKKIIKKRKK KK KIKKKKRK T 57557 57 ARK | IKAKHKAKHKKAX KA KA K
CRHRLRLKLHKRK K HRKIKRKRKIKIKIKKKKSKS LS55 570K TRAHKAKAKAILAKKAS
CHIHILHKIKHKKKKHXKRKHK KK KK KIKIKKRK TS5 KK | IKAKHKKHK KA KK IKA K
4
CHIHXAIHXIK KK KK KKK KIKKRIKKKIAKIK KKK 5757 50K LRHKAIKHKAHKAIHKAKAK KA
V554545454
SIS RIS 5
CHKHIRXIHIXIHKIKIKIXIIKIRXIIRKIIKIKISHXIKAKAN A4 K  LGRRKAIKHKAKIAIHKAK KKK +50 PSF
CRICRIRIKK I AKX AKX ARSI KKK IKAXIK IS5 575505 K ] IARKK AKX AKX SRR
CHIHXHHXKKHK LK LRKIKKRAKIAXKAKRAKIKKRITE T 5754 ARA - LR AKKAKKIAKHXIAKK KKK
CRICARIRIKIK I AR AKX KK IKRKRKKHKIAXKAKIKNET5 57575 55K IRARKKIK KKK KKK
, 00000000000000000000000000&@%%%%” A RIS
[l % SO ] RESSESREER -50 PSF
/‘/ —_— ~ T SEE (NON-HVHZ ONLY: SEE SHEET 7 FOR DETAILS)
SEE MAY BE INSTALLED TO UNLIMITED WIDTH DETAIL
DETAIL 2/1
2/1 NOTE: PANELS MAY BE MOUNTED VERTICALLY OR

EDGE OF — OPENING\l

OPENING

EDGE OF — |

CLIP

FIRST/LAST — |

SHUTTER
CLIP

HORIZONTALLY. VERTICAL MOUNT SHOWN HERE.

/ 1\ TYPICAL PANEL INSTALLATION

\1/ N.T.S.

EXTERIOR ELEV

N\

L Bt
HURRICANE PR

OTECTION

*NOTE: EDGE OF FIRST AND
LAST CLIP MUST BE EVEN
WITH OR EXTEND BEYOND

/ THE EDGE OF OPENING

HOST
SUBSTRATE

/ 2\ TYPICAL PANEL INSTALLATION

W N.T.S.

SECTION VIEW

(GENSE
Bennardo
T ot

“Rssenies 2021.01.07

ot

GENERAL NOTES

1. THE SYSTEM DESCRIBED HEREIN HAS BEEN DESIGNED AND TESTED
AS A LEVEL D LARGE MISSILE IMPACT PROTECTIVE SYSTEM IN ACCORDANCE
WITH THE FLORIDA BUILDING CODE SEVENTH EDITION (2020) THE
INTERNATIONAL BUILDING CODE (IBC) AND THE INTERNATIONAL
RESIDENTIAL CODE (IRC), FOR USE INSIDE AND OUTSIDE THE HIGH
VELOCITY HURRICANE ZONE PER ASTM E330, E1996 & E1886 AND TAS 201,
202 & 203 TESTING STANDARDS. SEE EVALUATION REPORT FOR MORE
INFORMATION.

2. THESE INSTALLATION INSTRUCTIONS ARE PART OF A PRODUCT
APPROVAL EVALUATION AND SHALL ONLY BE USED IN CONJUNCTION WITH
THE EVALUATION REPORT SUBMITTED FOR THE SAME PRODUCT APPROVAL.

3. NO 33-1/3% INCREASE IN ALLOWABLE STRESS HAS BEEN USED IN
THE DESIGN OF THIS SYSTEM. WIND LOAD DURATION FACTOR Cd=1.6 HAS
BEEN USED FOR WOOD ANCHOR DESIGN.

4. POSITIVE AND NEGATIVE DESIGN PRESSURES CALCULATED FOR USE
WITH THIS SYSTEM SHALL BE DETERMINED PER SEPARATE ENGINEERING IN
ACCORDANCE WITH THE GOVERNING CODE. PRESSURE REQUIREMENTS
SHALL BE LESS THAN OR EQUAL TO THE POSITIVE OR NEGATIVE DESIGN
PRESSURE CAPACITY VALUES LISTED HEREIN FOR ANY ASSEMBLY AS
SHOWN.

5. FOR INSTALLATIONS OUTSIDE THE HVHZ, THIS SYSTEM HAS BEEN
DESIGNED WITH NO SEPARATION FROM GLAZING REQUIRED FOR WIND
ZONES 1-3, IN ACCORDANCE WITH ASTM E1996. IT IS ACCEPTABLE BY CODE
UNLESS OPTIONAL CRITERIA IS INDEPENDENTLY ADOPTED BY THE
AUTHORITY HAVING JURISDICTION.

6. DESIGN PRESSURES NOTED HEREIN ARE BASED ON MAXIMUM TESTED
PRESSURES DIVIDED BY A 1.5 SAFETY FACTOR.

7. THE SYSTEM DETAILED HEREIN IS GENERIC AND DOES NOT PROVIDE
INFORMATION FOR A SPECIFIC SITE. FOR SITE CONDITIONS DIFFERENT
FROM THE CONDITIONS DETAILED HEREIN, A LICENSED ENGINEER OR
REGISTERED ARCHITECT SHALL PREPARE SITE SPECIFIC DOCUMENTS FOR
USE IN CONJUNCTION WITH THIS DOCUMENT.

8. PERMIT HOLDER SHALL VERIFY THE ADEQUACY OF THE EXISTING
STRUCTURE TO WITHSTAND SUPERIMPOSED LOADS. WOOD BUCKS (BY
OTHERS) SHALL BE ANCHORED PROPERLY TO TRANSFER LOADS TO THE
EXISTING STRUCTURE.

9. THIS SYSTEM IS INTENDED FOR USE ONLY DURING WIND STORM
EVENTS. WHEN NOT IN USE, PRODUCT SHALL BE PROPERLY STORED AWAY
FROM PROLONGED EXPOSURE TO DIRECT SUNLIGHT OR OTHER WEATHERING
CONDITIONS.

10. MAXIMUM PANEL SPAN: 10'-0" (8'-1" W/ STORM TRIM)

11. MAXIMUM ALLOWABLE DESIGN PRESSURE: +60 PSF (+50 PSF W/
STORM TRIM)

12. PANEL OPENINGS SHALL BE PERMANENTLY LABELED WITH A MINIMUM
OF ONE LABEL PER PANEL OPENING CONTAINING THE FOLLOWING MINIMUM
INFORMATION:

TOWN & COUNTRY INDUSTRIES

FORT LAUDERDALE, FL

MISSILE LEVEL D - ASTM E1886, E1996 & E330
TAS 201, 202 & 203

FLORIDA PRODUCT APPROVAL NUMBER

13. HURRICANE FABRIC PANELS MAY BE MOUNTED VERTICALLY OR
HORIZONTALLY AS APPLICABLE.

14. EXCEPT AS EXPRESSLY PROVIDED HEREIN, NO ADDITIONAL
CERTIFICATIONS OR AFFIRMATIONS ARE INTENDED.

VISIT ECALC.I0/26197

FOR SITE SPECIFIC DEVIATIONS
& MORE INFORMATION ABOUT THIS DOCUMENT
OR SCAN THIS QR CODE

VISIT ENGINEERINGEXPRESS.COM/STORE
FOR ADDITIONAL PLANS, REPORTS & RESOURCES

Digitally signed

FRANK BENNARDO, PE
PE# 0046549 CA#9885

10:01:51 -05'00'

CORPORATE OFFICE:
160 SW 12th AVE, SUITE 106
DEERFIELD BEACH, FL 33442
(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

i
™
o
o
~
i
-
i\ )
oy
(o i
o = 2 ¢
XS% A
o8
hai <@
D52z Om
aZ 3 oo
Q=38 ¢
-0 < ZLII
o O 3
s =<
'—
\*//‘ e n
( . E; mg
=t 33
Z 85
s Y-
© =
c @
=
F.' =
N~ w
wI L2 |E.8;
553 5S |egsd
ST
asSSIssR 2g=2
J|N|2|F|F| | 3igs
oSz h
o o 2588
¥ ml2mlm 2283
X [ < 58 o w
olclold|®| gSEk
Z 2|z EEE
ol |22
z_.g;;o 3£2s
ol |N|Z|X|0| |%3yZ
FESE
LSEE
Skaz
EE<h
Falga
= Sy
%) b= wZ G
X ERus
z5ololllo gg=8
LB 2R R 3282
12} " 2
Eclzslzlgl | BBEZ
RSN £ 8"
COPYRIGHT FRANK L. BENNARDO P.E.

SCALE: - |

PAGE DESCRIPTION:

OF

1




C:\Users\rickn\Engineering Express\Production - Documents\Projects\20-26197 - FL17003.1 - Eyewall Armor Fabric Shutter MPS\WP\2020 FBC\20-26197d - FL17003.1 - DWG.dwg

rickn

10/06/2020 - 5:25pm

EXISTING GLAZING

21" MINIMUM GLAZING /

SEPARATION MEASURED
FROM PANEL MID SPAN

|

CONNECTION C1

ANCHORS SPACED PER
ANCHOR SCHEDULE

AAAAA

*s\EDGE DIST.

SHUTTER MAY BE INSTALLED
WITH OR WITHOUT SLANT AS
LONG AS THE MINIMUM
SEPARATION FROM GLASS
REQUIREMENT IS MET WHEN
MEASURED FROM SHUTTER
PANEL MID SPAN WHEN
REQUIRED

CONNECTION C1

CLIPS SPACED PER
ANCHOR SCHEDULE. CLIPS
MAY FACE INWARD OR
OUTWARD

m
<
w
m
O

CLIPS FASTENED SHUT
WITH (3) 1/4"x1/2" SMS
OR SDS PER CLIP.

77

/12 TYPICAL SHUTTER (SLANTED)

\ZJ N.T.S.
7

EXISTING GLAZING \

21" MINIMUM GLAZING /
SEPARATION MEASURED
FROM PANEL MID SPAN

VERT SECTION

120" MAX SHUTTER SPAN

/10 TYPICAL SHUTTER (VERTICAL)

G,
7

\y N.T.S.

VERT SECTION

SCREWS MAY FACE
INWARD OR OUTWARD.

o

SHUTTER FABRIC: NYLON FABRIC
WITH POLY OR PVC COATING (4200
DENIER WARP) 13 X 13 (4200
DENIER WEFT), OR VINYL COATED
POLYESTER FABRIC MESH 35X30
LAMINATE BACKED, TYPICAL

/2 TYPICAL WALL MOUNT

\2/ N.T.S. VERT SECTION

SHUTTER FABRIC: NYLON FABRIC
WITH POLY OR PVC COATING (4200
DENIER WARP) 13 X 13 (4200
DENIER WEFT), OR VINYL COATED
POLYESTER FABRIC MESH 35X30
LAMINATE BACKED, TYPICAL

< /cups AT 12" 0.C. MAX
@\ CLIPS FASTENED SHUT
I /WITH (3) 1/4"x1/2" SMS
OR SDS PER CLIP
2"x2"x0.125" 6063-T6 <y

STUDDED ANGLE \f

LOAD ON EXISTING STRUCTURE FROM SCREEN SYSTEM

Tx = PARALLEL LOADS (PLF)

SPAN DESIGN PRESSURE
60 PSF 53 PSF 45 PSF 38 PSF 33 PSF

3'-6" 164.5 151.5 135.8 121.3 110.4
4'-6" 194.5 179.1 160.6 143.5 130.6
5'-7" 257.8 237.3 212.8 190.1 173.0
6'-6" 328.8 302.7 271.4 242.5 220.7
8'-6" 474.4 436.8 391.6 349.9 318.5
10'-0" 580.5 534.4 479.2 428.1 389.7

LOAD ON EXISTING STRUCTURE FROM SCREEN SYSTEM

Ty = PERPENDICULAR LOADS (PLF)

'

SPAN DESIGN PRESSURE
60 PSF | 53 PSF | 45PSF | 38 PSF | 33 PSF
36" 105.0 92.8 78.8 66.5 57.8
46" 135.0 1193 1013 85.5 74.3
57" 1675 148.0 1256 106.1 92.1
66" 195.0 172.3 146.3 1235 107.3
86" 255.0 2253 1913 1615 1403
100" 300.0 265.0 225.0 190.0 165.0
=l 11750 =}

} 01880
0.2490 0.0940

4@1«0@098@04‘ 00313% 0‘3130Jr

01950
A% 4090
I

I 1/4-20X1" MIN 18-8 SS
|| WSTUDS OR BOLTS AT 12"
Sili& Y 0.C. WITH WASHERED

S % WINGNUT OR NUT

™ 2.0000

A $ V EDGE DIST. 4

iz EDGE

@4(
= 901000

o 1.3000

A

DIST.
CONNECTION C2

V .
/EMBEDf /ANCHORS SPACED PER
77 7 pusron s

/3 TYPICAL TRAP MOUNT

\2/ N.T.S. VERT SECTION

0.3120
-~ :[165523%03300 - 0.5000
05000~ =T :
I —1.0000 i
O
A o
czmeoo\igs ol 8 eL@ D L X
02440 & Ol 1.000 2l | o
° g o @ o] g o
&l T INi
L 0.3120
I $0,4380
$0.1950 0.5000
7.0000

@ N.T.S.

SHUTTER CLIP

MATERIAL: NYLON 6

FRANK BENNARDO, PE
PE# 0046549 CA#9885

CORPORATE OFFICE:
160 SW 12th AVE, SUITE 106
DEERFIELD BEACH, FL 33442
(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

FL17003.1

0., Inc.

ountry

Wholesale Aluminum and Building Products

ADivision of ABC Supply

400 WEST MCNAB ROAD
FT. LAUDERDALE, FL 33309

Town €

N~ W oo
w28 |E.8z
FSisexss odgso
<8883 22k
al¥=is=E EE

< NS (S~ 55;‘5
[a) 2553
&

4 _ 4 wPg s s
I|%n 39 = S8aom
QL |0 || =8
z SES2
zz ez

; 14 o o=5=
cz_nﬁigo 252
al¥|N|x|Z |0 £34%
FEE1]

LSEE

SkEazZ

=x<E

Eogl

=| | |B5ED

ae

= 2dEw

= £

= BZFE

8lu 4 EEME
roool2w £3:8
<30 208 388:
- v (=] x
EciTcizlg 8832
2 ZRSES |F &
COPYRIGHT FRANK L. BENNARDO P.E.
SCALE: - | -

PAGE DESCRIPTION:

OF

2




C:\Users\rickn\Engineering Express\Production - Documents\Projects\20-26197 - FL17003.1 - Eyewall Armor Fabric Shutter MPS\WP\2020 FBC\20-26197d - FL17003.1 - DWG.dwg

rickn

10/06/2020 - 5:25pm

ANCHOR SCHEDULES:
= 2.5" MIN EDGE DISTANCE
- g ANCHOR TYPE LOAD Spans Up To 3-6" Spans Up To 4-6" Spans Up To 5-7" Spans Up To 66" Spans Up To 86" Spans Up To 100"
8 'cf (psf) CONN TYPE CONN TYPE CONN TYPE CONN TYPE CONN TYPE CONN TYPE
N c1 c2 C1 c2 C1 c2 C1 c2 c1 c2 c1 c2
5/16" ITW TAPCON XL, 2- 33 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 11:0"
1/4" EMBED (2899 PSI 38 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 11.9" 12.0" 8.9"
CONC) 45 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 10.5" 128" 8.7"
53 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 9.3" 12.0" 7"
60 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 11.8" 12.0" 8.4" 12.0" 2.0"
1/4" ELCO PANELMATE, 33 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 9.0" 11.4" 7.4"
MALE OR FEMALE, 1-3/4" 38 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 11.3" 12.0" 8.1" 10.3" 6.7"
EMBED (3323 PSI CONC) 45 12.0” 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 9.9" 114" o 9.1" 5.9"
53 12.0" 12.0" 12.0" 12.0" 12.0" 10.7" 12.0" 8.7" 9.9" 6:2" 8.1" 52!
60 12.0" 12:.0" 12.0" 12.0" 12.0" 9.2" 12.0" 7.9" 9.0" 5.7" 7.4" 4.7"
1/4" ITW TAPCON SG, 1- 33 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 9.9"
3/4" EMBED (3295 PSI 38 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 10.8" 12.8" 8.9"
CONC) 45 12.0" 12.0" 12.0" 12.0" 12.0 12.0" 12.0" 12.0" 12.0 9.5" 12.0" 7.8"
53 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 11.7" 12.0" 8.4" 12.0" 6.9"
60 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 10.6" 12.0" 7.6" 11.6" 6.3"
E 1/4" ITW SAMMYS SSC, 2- 33 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 10.4"
o |1/4"EMBED (3295 PSI 38 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 11.2" 12.0" 9.3"
g CONC) 45 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 9.9" 1t.4" 8.2"
8 53 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 8.7" 9.9" z.2"
60 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 10.9" 11.0" 7.9" 9:.1" 6.5"
1/4" ALL POINTS SOLID- 33 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 11.6" 12.0" 8.3" 12.0" 6.8"
SET, 7/8" EMBED (3000 PSI 38 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 10.4" 12.0" 7.4" 12.0" 6.1"
CONC) 45 12.0" 12.0" 12.0" 12.0" 12.0" 11.4" 12.0" 9.2" 12.0" 6.5" 10.7" 5.4"
53 12.0" 12.0" 12.0" 12.0" 12.0" 10.0" 12.0" 8.1" 11.4" 5.8" 9.4" 4.8"
60 12.0" 12.0" 12.0" 5 12.0" g 12.0" 7.3" 10.4" 52" 8.6" 4.3"
1/4" EA MALE BOLT, 2-1/2" 33 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 120" 12.8" 10.4"
EMBED (2900 PSI CONC) 38 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 113" 12.0" 9.3"
45 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 9.9" 12.0" 8.2"
53 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 8.8" 12.0" 72"
60 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 2 3 1 g 12.0" 8.0" 1.2.8" 6.6"
1/4" EA MALE BOLT, 1-7/8" 33 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 11.0" 9.0" 7.9" 7.4" 6.6"
EMBED (2900 PSI CONC) 38 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 117" 9.8" 8.2" 7.1 6.7" 5.9"
45 12.0" 12.0" 12.0" 12.0" 12.0" 10.5" 10.4" 8.6" 7.3" 6.2" 6.0" 5.1"
53 12.0" 12.0" 12.0" 11.8" 11.7" 9.2" 9.3" 75" 6.5" 5.4" 53" 4.5"
60 12.0" 12.0" 12.0" 10.7" 10.7" 8.3" 8.5" 6.8" 5.9" 4.9" 4.9" 4.1"
P 2" MIN EDGE DISTANCE
= g ANCHOR TYPE LOAD Spans Up To 36"  Spans Up To 4-6" Spans Up To5-7° Spans Up To 66"  Spans Up To 86"  Spans Up To 10-0"
8 4 (psf) CONN TYPE CONN TYPE CONN TYPE CONN TYPE CONN TYPE CONN TYPE
I !7) c1 Cc2 c1 c2 1 c2 Cc1 c2 Cc1 c2 c1 c2
w |1/4" ALL POINTS SOLID- 33 12.0" 120" 12.0" 12.0" 12.0" 12.0" 12.0" 10.2" 12.0" 7.3" 11.6" 6.0"
E SET, 7/8" EMBED (3000 PSI 38 12.0" 12.0" 12.0" 12.0" 12.0" 11.4" 12.0" 9.2" 12.0" 6.5" 10.5" 5.4"
U |CONC) 45 12.0" 12.0" 12.0" 12.0" 12.0" 10.0" 12.0" 8.1" 11.2" T i 9.2" 4.7"
% 53 12.0" 12.0" 12.0" 11.4" 12.0" 8.8" 12.0" 7.1" 9.9" ok b 8.2" 4.2"
e 60 12.0" 12.0" 12.0" 10.3" 12.0" 8.0" 12.0" 6.5" 9.0" 4.6" 7.5" 3.8"
- 1.25" MIN EDGE DISTANCE
= 'g ANCHOR TYPE LOAD Spans Up To 3-6" Spans Up To 4-6" Spans Up To 5-7" Spans Up To 6-6"  Spans Up To 8-6"  Spans Up To 10-0"
8 o (psf) CONN TYPE CONN TYPE CONN TYPE CONN TYPE CONN TYPE CONN TYPE
T 0 c1 c2 c1 c2 c1 c2 C1 c2 C1 c2 C1 c2
w 1/4" EA MALE BOLT, 2-1/2" 33 12.0" 120" 120" 12.0" 12.0" 12.0" 120" 12.0" 10.8" 11.0" 8.8" 2 B b
E EMBED (2900 PSI CONC) 38 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 9.8" 9.8" 8.0" ga"
(U] 45 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 11.8" 8.7" 8.5" 71" 71"
% 53 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 11.1" 10.3" 7.8" Z.o 6.4" 6.2"
O 60 12.0" 12.0" 12.0" 12.0" 12.0" 11.3" 10.2" 9.3" 7 by 67" 5.8" 5.6"
= 4" MIN EDGE DISTANCE
- i:) ANCHOR TYPE LOAD Spans Up To 3-6" Spans Up To 46" Spans Up To 5-7" Spans Up To 6-6" Spans Up To 86" Spans Up To 10-0"
8 E (psf) CONN TYPE CONN TYPE CONN TYPE CONN TYPE CONN TYPE CONN TYPE
N C1 Cc2 C1 c2 C1 c2 Cc1 c2 C1 c2 C1 c2
w 1/4" ELCO PANELMATE 33 12.0" 12:0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 9.7" 12.0" 8.0"
E INSERT, 1-5/8" EMBED 38 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 8.7" 11.3" T
U] (2700 PSI CONC) 45 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 10.7" 12.0" Vi i 10.0" 6.3"
% 53 12.0" 12.0" 120" 12.0" 12.0" 11.6" 120" 9.4" 10.8" B 8.9" 5.6"
e 60 12.0" 12.0" 12.0" 12.0" 12.0" 10.5" 12.0" 8.5" 9.9" 61" 8.2" 51

ANCHOR NOTES:

1. SEE SECTION VIEWS FOR ANCHOR LOCATIONS AND/OR SPACING.

2. ANCHORS SHALL BE INSTALLED IN ACCORDANCE WITH MANUFACTURERS' RECOMMENDATIONS.

3. UNLESS OTHERWISE NOTED HEREIN, WHERE ANCHORS FASTEN TO NARROW FACE OF STUD
FRAMING, ANCHOR SHALL BE LOCATED IN CENTER OF NOMINAL 2x (MIN) WOOD STUD (i.e. 3/4" EDGE
DISTANCE IS ACCEPTABLE FOR ANCHORS TO WOOD FRAMING, PER APPLICABLE ANCHOR SCHEDULE).

4. MINIMUM EMBEDMENT SHALL BE AS NOTED IN ANCHOR SCHEDULE. MINIMUM EMBEDMENT
AND EDGE DISTANCE EXCLUDES STUCCO, FOAM, BRICK, AND OTHER WALL FINISHES.

5. ANCHOR SCHEDULE APPLIES TO ALL PRODUCTS CERTIFIED HEREIN, BUT ONLY PROVIDES
MAXIMUM ALLOWABLE ANCHOR SPACING. MAXIMUM ALLOWABLE SPANS AND PRESSURES INDICATED
IN SPAN SCHEDULE SHALL APPLY.

6. WHERE EXISTING STRUCTURE IS WOOD FRAMING, EXISTING CONDITIONS MAY VARY. FIELD
VERIFY THAT FASTENERS ARE INTO ADEQUATE WOOD FRAMING MEMBERS, NOT INTO PLYWOOD.

7. MACHINE SCREWS SHALL HAVE MINIMUM OF 1/2" ENGAGEMENT OF THREADS IN BASE ANCHOR
AND MAY HAVE EITHER A PAN HEAD, TRUSS HEAD, OR WAFER HEAD ("SIDEWALK BOLT") U.N.O.

8. [ZZzzZ2 DESIGNATES ANCHOR CONDITIONS WHICH ARE NOT ACCEPTABLE FOR USE.
9. ALLY%" EA MALE BOLTS MAY USE THE OPTIONAL FEMALE ATTACHMENT SHOWN BELOW AT THE
ANCHOR SPACINGS SHOWN
[ OPTIONAL
FEMALE CAP

FRANK BENNARDO, PE
PE# 0046549 CA#9885

Wiy,
B ",

\
aw

4,5 SSIONRY S

, <
‘e

CORPORATE OFFICE:
160 SW 12th AVE, SUITE 106
DEERFIELD BEACH, FL 33442
(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

FL17003.1

0., Inc.

ountry

N
Wholesale Aluminum and Building Products

ADivision of ABC Supply

400 WEST MCNAB ROAD
FT. LAUDERDALE, FL 33309

Town”

~ [T

<[ oo .

wIeselg B¢

=5l ®lslS | gzgs

<88 (8|3 xEe

diislz|e EFEE

SIS kg

oSEH

e zges

X m ooz 2263

T 8332 g8gu

QL |0 || §5§§

F4 SESE

2| |x|€|€|m| |#EEEZ

[~ ﬁ 220 J5x2

al¥|N|x|Z |0 £34%

FEE1]

ESEE

ok2z

& g8

s | |Bite

=

= 2428

= Wb

EZ2E

7] = 2=

¥ % s@u3

228858 58

<mu_u_“.)u_ §3§%

Hibars o Y EL
>

weEls|= I axZo

ololl|o 2 Er

rZIxX & E @

COPYRIGHT FRANK L. BENNARDO P.E.

20-26197

SCALE: - | -

PAGE DESCRIPTION:

OF

3




C:\Users\rickn\Engineering Express\Production - Documents\Projects\20-26197 - FL17003.1 - Eyewall Armor Fabric Shutter MPS\WP\2020 FBC\20-26197d - FL17003.1 - DWG.dwg

rickn

10/06/2020 - 5:25pm

ANCHOR SCHEDULES (CONT.):

2.5" MIN EDGE DISTANCE

FRANK BENNARDO, PE
PE# 0046549 CA#9885

W,
\ W,
W BENN

Kz\ darite
01/07/20242 SSioNA

Y

CORPORATE OFFICE:
160 SW 12th AVE, SUITE 106
DEERFIELD BEACH, FL 33442
(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

ANCHOR NOTES: SEE SHEET
3 FOR ANCHOR NOTES.

'L—)- ANCHOR TYPE Spans Up To 3'-6" Spans Up To 4'-6" Spans Up To 5-7" Spans Up To 6'-6" Spans Up To 8'-6" Spans Up To 10-0"
g E L(S?f')D CONN TYPE CONN TYPE CONN TYPE CONN TYPE CONN TYPE CONN TYPE
In c1 c2 C1 c2 C1 c2 C1 c2 C1 c2 C1 C2

5/16" DEWALT ULTRACON, 33 12.0" 12.0" 12.0" 11.4" 12.0" 8.7" 12.0" 7.0" 11.6" 9.6"
2-1/4" EMBED 38 12.0" 12.0" 12.0" 10.2" 12.0" 7.9" 12.0" 6.3" 10.4" 8.6"
45 12.0" 10.9" 12.0" 9.0" 12.0" 6.9" 12.0" 5.6" 9.1" 7.6"
53 12.0" 9.6" 12.0" 7.9" 12.0" 6.1" 11.2" 8.0" 6.7"
60 12.0" 8.7" 12.0" 7.2" 12.0" 5.5" 10.2" 7.3" 6.1"
1/4" DEWALT ULTRACON, 33 12.0" 12.0" 12.0" 12.0" 12.0" 11.4" 12.0" 9.3" 8.8" 6.6" 7.3" 5.5"
¥ 2-1/4" EMBED 38 12.0" 12.0" 12.0" 12.0" 12.0" 10.2" 11.4" 8.3" 8.0" 5.9" 6.6" 4.9"
S 45 12.0" 12.0" 12.0" 11.5" 12.0" 8.9" 10.1" 7.2" 7.1" 5.2" 5.8"
o 53 12.0" 12.0" 12.0" 10.1" 11.3" 7.8" 9.0" 6.4" 6.3" 4.6" 5.2"
@ 60 12.0" 11.2" 12.0" 9.1" 10.4" 7.1" 8.2" 5.8" 5.8" 4.8"
= [1/4" ITW TAPCON SG, 1-3/4" 33 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 9.9"
5‘ EMBED 38 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 10.8" 10.9" 8.9"
s} 45 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 11.9" 9.4" 9.7" 7.8"
G 53 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 11.5" 10.6" 8.3" 8.7" 6.9"
60 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 10.4" 9.7" 7.5" 8.0" 6.2"
1/4" ITW SAMMYS SSC, 33 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 9.6" 9.9" 7.9" 8.2"
2-1/2" EMBED 38 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 8.7" 8.8" 7.2" 7.3"
45 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 11.1" 10.6" 7.8" 7.7" 6.4" 6.4"
53 12.0" 12.0" 12.0" 12.0" 12.0" 11.3" 10.0" 9.3" 6.9" 6.7" 5.7" 5.6"
60 12.0" 12.0" 12.0" 12.0" 11.6" 10.2" 9.1" 8.4" 6.4" 6.1" 5.2" 5.1"
3.5" MIN EDGE DISTANCE
1/4" DEWALT PANELMATE 33 12.0" 12.0" 12.0" 12.0" 12.0" 10.1" 12.0" 8.1" 12.0" 5.7" 11.2" 4.7"
INSERT, 1-1/2" EMBED 38 12.0" 12.0" 12.0" 11.7" 12.0" 9.0" 12.0" 7.3" 12.0" 5.2" 10.1" 4.3"
45 12.0" 12.0" 12.0" 10.3" 12.0" 7.9" 12.0" 6.4" 10.7" 4.6" 8.8"
53 12.0" 11.0" 12.0" 9.1" 12.0" 7.0" 12.0" 5.6" 9.4" 4.0" 7.8"
60 12.0" 10.0" 12.0" 8.2" 12.0" 6.4" 11.9" 5.1" 8.5" 7.1"
: 1.25" MIN EDGE DISTANCE
= E ANCHOR TYPE LOAD Spans Up To 3-6" Spans Up To 4-6" Spans Up To 5-7" Spans Up To 6-6" Spans Up To 8-6" Spans Up To 10-0"
Q & (psf) CONN TYPE CONN TYPE CONN TYPE CONN TYPE CONN TYPE CONN TYPE
Twn c1 c2 C1 c2 o1 c2 el c2 C1 c2 c1 [57)

« |1/4"EA MALE BOLT, 2-1/4" 33 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 9.8" 9.7" 7.0" 7.9" 5.8"

Q EMBED 38 12.0" 12.0" 12.0" 12.0" 12.0" 10.9" 12.0" 8.8" 8.7" 6.3" " 5"

a 45 12:0™ 12.0" 12.0" 12.0" 12.0" 9.5" 11.0" 7 7.8" 5.5" 6.4" 4.6"

a 53 12.0" 12.0" 12.0" 107" 12.0" 8.3" 9.8" 6.8" 6.9" 4.9" 5.7" 4.0"

% 60 20 11.9" 12.0" 9.7" 11.3" 7.5" 9.0" 6.1" 6.3" 4.4" 5" 3.7"

i 1/4" EA MALE BOLT, 2-1/2" 33 120" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 10.1" p O 1 i 9:1" 5.9"

5‘ EMBED 38 12.0" 12.0" 12.0" 12.0" 12.0" 13" 12.0" 9.0" 10.1" 6.4" 8.3" 5.3"

o 45 12.0" 12.0" 12.0" 12.0" 12.0" 9.8" 12.0" 7.9" 8.9" 57" 73" 4. 7"

0] 53 12.0" 12.0" 12.0" 112" 12.0" 8.6" 113" Z.0" 7.9" 5.0" 6.5" 41"

60 12.0" 12.0" 12.0" 10.0" 12.0" 28" 10.2" 6.3" 72" 4.5" 6.0" 5

-
)
o
o
N
i
-
e
g = 2 &
87 ng
s:;azgﬁ
aQ ™
—t o
08 & m
-0 < Zlﬁ
o (O
& =<
[y a)
‘ e x
Q,/“ = mm
= =z0
% o:)
ﬁ Z 383
o T -
s tc
% 3
@
EQ 2
=
;

~ [T
<[ oo

wIeselg B¢

HIREE EIEEREE

<88 (8|3 e

oSS |SIS|e |85

EARNIESIE NN ook

oSEH

g 2| | 35is

m = oo 2295

T 8332 g8gu

oL O 5§§§

Z z|z ZEZS

= 14 o0 =5

[~ ﬁ 220 J5x2

al¥|N|x|Z |0 £34%

2Ed@

LsEE

SE82

& g8

=| | |B5ED

ae

bz g4z

= YEES

EZ2E

[7,] = 2=

¥ % s@u3

228858 58

<cl)u_u_“_)u_ §2gg

Hibars o Y ELS

>

weEls|= I axZo

ololl|o 2 Er

rZIxX & E @

COPYRIGHT FRANK L. BENNARDO P.E.

20-26197

SCALE: - | -

PAGE DESCRIPTION:

OF

L




C:\Users\rickn\Engineering Express\Production - Documents\Projects\20-26197 - FL17003.1 - Eyewall Armor Fabric Shutter MPS\WP\2020 FBC\20-26197d - FL17003.1 - DWG.dwg

rickn

10/06/2020 - 5:25pm

ANCHOR SCHEDULES (CONT.):

FRANK BENNARDO, PE
PE# 0046549 CA#9885

‘“HE‘;'[-‘;\‘/””’/

01/07/2024?\5‘3',5,],\

)
‘e

CORPORATE OFFICE:
160 SW 12th AVE, SUITE 106
DEERFIELD BEACH, FL 33442
(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

ANCHOR NOTES: SEE SHEET
3 FOR ANCHOR NOTES.

] 2.5" MIN EDGE DISTANCE
5 Spans Up To 3'-6" Spans Up To 4'-6" Spans Up To 5-7" Spans Up To 6'-6" Spans Up To 8'-6" Spans Up To 10'-0"
h2 ANCHOR TYPE LOAD CONN TYPE CONN TYPE CONN TYPE CONN TYPE CONN TYPE CONN TYPE
eh (psf) c1 c2 c1 c2 c1 c2 c1 c2 c1 c2 c1 c2
1/4" DEWALT PANELMATE, 33 12.0" 10.1" 12.0" 8.3" 11.8" 6.4" 9.4" 5.2" 6.7" 3.7" 5.5" 3.0"
MALE OR FEMALE, 1-1/4" 38 12.0" 9.1" 12.0" 7.5" 10.6" 5.7" 8.5" 4.6" 6.0" 3.3" 4.9"
EMBED 45 12.0" 7.9" 12.0" 6.5" 9.3" 5.0" 7.5" 41" 5.3" 4.4"
53 12.0" 7.0" 10.7" 57" 8.3" 4.4" 6.6" 3.6" 47" 3.9"
60 11.8" 6.3" 9.7" 5.2" 7.5" 4.0" 6.0" 3.3" 4.3" 3.5"
1/4" ITW TAPCON SG, 1-1/4" 33 12.0" 12.0" 12.0" 12.0" 12.0" 10.6" 11.1" 8.6" 7.8" 6.2" 6.4" 51"
EMBED 38 12.0" 12.0" 12.0" 12.0" 12.0" 9.5" 10.0" 7.7" 7.0" 5.5" 5.8" 4.6"
45 12.0" 12.0" 12.0" 10.7" 11.2" 8.3" 8.9" 6.8" 6.2" 4.9" 5.1" 4.0"
53 12.0" 11.5" 12.0" 9.4" 10.0" 7.3" 7.9" 5.9" 5.6" 4.3" 4.6" 3.5"
60 12.0" 10.4" 12.0" 8.4" 9.1" 6.6" 7.3" 5.4" 5.1" 3.9" 4.2" 3.2"
. |1/47TTW SAMMYS ssc, 33 12.0" 12.0" 12.0" 10.9" 12.0" 8.4" 12.0" 6.8" 9.2" 4.8" 7.6" 4.0"
Q 1-1/4" EMBED 38 12.0" 11.9" 12.0" 9.8" 12.0" 7.6" 11.7" 6.1" 8.3" 4.3" 6.8" 3.6"
= 45 12.0" 10.5" 12.0" 8.6" 12.0" 6.6" 10.3" 5.4" 7.3" 3.8" 6.0" 3.2"
= 53 12.0" 9.2" 12.0" 7.6" 11.3" 5.8" 9.1" 4.7" 6.5" 3.4" 5.3"
- 60 12.0" 8.4" 12.0" 6.9" 10.3" 5,3" 8.3" 4.3" 5.9" 3.1" 4.9"
§ 1/4" ALL POINTS SOLID-SET, 33 12.0" 12.0" 12.0" 10.5" 12.0" 8.1" 9.9" 6.6" 6.9" 4.7" 5.7" 3.9"
7/8" EMBED (3000 PSI CONC) 38 12.0" 11.5" 12.0" 9.4" 11.2" 7.3" 8.9" 5.9" 6.3" 4.2" 5.2" 3.5"
45 12.0" 10.1" 12.0" 8.2" 9.9" 6.4" 7.9" 5.2" 5.6" 3.7" 4.6" 3.1"
53 12.0" 8.8" 11.5" 7.2" 8.8" 5.6" 7.0" 4.5" 5.0" 3.3" 4.1"
60 12.0" 8.0" 10.5" 6.5" 8.1" 5.1" 6.4" 4.1" 4.5" 3.7"
3.5" MIN EDGE DISTANCE
1/4" DEWALT PANELMATE 33 12.0" 12.0" 12.0" 12.0" 12.0" 9.7" 12.0" 7.8" 12.0" 5.6" 11.1" 4.6"
INSERT, 1-1/4" EMBED 38 12.0" 12.0" 12.0" 11.4" 12.0" 8.7" 12.0" 7.0" 12.0" 5.0" 10.0" 4.1"
45 12.0" 12.0" 12.0" 10.0" 12.0" 7.7" 12.0" 6.2" 10.6" 4.4" 8.7"
53 12.0" 10.7" 12.0" 8.8" 12.0" 6.8" 12.0" 5.5" 9.3" 7.7"
60 12.0" 9.7" 12.0" 8.0" 12.0" 6.2" 11.7" 5.0" 8.4" 7.0"
4" MIN EDGE DISTANC
5/16" ITW TAPCON XL, 1-3/4" 33 12.0" 10.1" 12.0" 8.4" 12.0" 6.4" 12.0" 52" 11.6" 9.6"
EMBED 38 12.0" 9.1" 12.0" 7.5" 12.0" 5.8" 12.0" 4.6" 10.3" 8.6"
45 12.0" 8.0" 12.0" 6.6" 12.0" 51" 12.0" 4.1" 8.9" 7.4"
53 12.0" 7.1" 12.0" 5.8" 12.0" 4.5" 10.6" 7.8" 6.5"
60 12.0" 6.4" 12.0" 5.3" 11.5" 4.1" 9.5" 7.0" 5.8"
B 1.25" MIN EDGE DISTANCE
= g ANCHOR TYPE LOAD Spans Up To 3-6" Spans Up To 4-6" Spans Up To 5-7" Spans Up To 66" Spans Up To 8-6" | Spans Up To 10-0"
9 (psf) CONN TYPE CONN TYPE CONN TYPE CONN TYPE CONN TYPE CONN TYPE
T o ci c2 c1 c2 c1 c2 c1 c2 C1 c2 C1 c2
1/4" EA MALE BOLT, 1-1/4" 33 12.0" 12.0" 12.0" 12.0" 12.0" 10.5" 120" 8.4" 9.4" 6.0" 7.8" 5.0"
g % |EMBED 38 102.0" 120" 12.0" 12.0" 12.0" 9.4" 12.0" 7.6" 8.5" 5.4" 70" 4.5"
49 45 120" 120" 12.0" 10.6" 12.0" 8.2" 10.7" 6.6" 7.6" 4.8" 6.2" 3.9"
g @ 53 120" 1.4 12.0" .3 11.9" T2 9.5" 5.8" 67" 4.2" 55" M
60 2.0 10.3" 12.0" 8.4" 10.9" 6.5" 8.7" 5.3" 6.1" 3.8" 5.1"

-
)
o
o
N
i
-
e
g = 2 &
87 ng
S:;azgﬁ
aQ ™
—t o
08 & m
-0 < ZLII
o (O
& =<
[y a)
12 E x
Q,/“ = mm
= =z0
% OD
ﬁ Z 383
o T -
s tc
3 3
@
EQ 2
=
;

~ W @
<lw|Noo ]

Bz |55|S |Bgz8

<88 (8|3 Zxgk

Q=L |o EEEY

SISIGIEIEIES EExp

oSEH

a 2208

X m ooz 2263

T 8332 g8gu

QL |0 || E§§§

Z =E38g

H mgém HEF=

ELREE 8 |32

FEt-1]

EsEE

283

EEgE

Eegy

= §528

ae

z £dze

= YEES

EZ2E

”n = LZTE

¥ W 4 cRus

222252 |35:8

< @R ee R g2ge

E_<rl\>o 2HsE

weEls|= I axZo

mzoo&o T aF
Z & Kx| =

COPYRIGHT FRANK L. BENNARDO P.E.

20-26197

SCALE: - | -

PAGE DESCRIPTION:

OF

L




C:\Users\rickn\Engineering Express\Production - Documents\Projects\20-26197 - FL17003.1 - Eyewall Armor Fabric Shutter MPS\WP\2020 FBC\20-26197d - FL17003.1 - DWG.dwg

rickn

10/06/2020 - 5:25pm

ANCHOR SCHEDULES (CONT.):

3/4" MIN EDGE DISTANCE

FRANK BENNARDO, PE
PE# 0046549 CA#9885

W,
\ W,
W BENN

01/07/202’1?6‘5‘}5&;\

)
‘e

CORPORATE OFFICE:
160 SW 12th AVE, SUITE 106
DEERFIELD BEACH, FL 33442
(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

ANCHOR NOTES: SEE SHEET
3 FOR ANCHOR NOTES.

'L—)- ANCHOR TYPE Spans Up To 3'-6" Spans Up To 4'-6" Spans Up To 5-7" Spans Up To 6'-6" Spans Up To 8'-6" Spans Up To 10'-0"
g E L(S?f')D CONN TYPE CONN TYPE CONN TYPE CONN TYPE CONN TYPE CONN TYPE
In C1 C2 c1 C2 C1 C2 c1 C2 C1 C2 c1 C2
1/4" HANGAR BOLT, 2" EMBED 33 12.0" 12.0" 12.0" 12.0" 9.5" 11.7" 7.4" 9.7" 5.2" 7.1" 4.2" 5.9"
38 12.0" 12.0" 11.4" 12.0" 8.6" 10.3" 6.8" 8.6" 4.7" 6.3" 3.8" 5.2"
45 12.0" 12.0" 10.1" 11.3" 7.7" 8.9" 6.0" 7.4" 4.2" 5.4" 3.4" 4.5"
53 10.7" 12.0" 9.1" 9.8" 6.9" 7.7" 5.4" 6.4" 3.8" 4.7" 3.1" 3.9"
60 9.9" 11.0" 8.3" 8.8" 6.3" 6.9" 5.0" 5.8" 3.4" 4.2" 2.8" 3.5"
1/4" DEWALT PANELMATE, 33 12.0" 12.0" 11.8" 12.0" 8.9" 11.0" 7.0" 9.1" 4.9" 6.7" 4.0" 5.6"
MALE OR FEMALE, 1-7/8" 38 12.0" 12.0" 10.7" 12.0" 8.1" 9.7" 6.4" 8.1" 4.4" 5.9" 3.6" 4.9"
EMBED 45 11.3" 12.0" 9.6" 10.7" 7.2" 8.4" 57" 7.0" 4.0" 5.1" 3.2" 4.3"
53 10.2" 11.5" 8.6" 9.2" 6.5" 7.3" 5.1" 6.0" 3.5" 4.4" 2.9" 3.7"
60 9.3" 10.3" 7.9" 8.2" 5.9" 6.5" 4.7" 5.4" 3.3" 4.0" 2.7" 3.3"
1/4" ITW SAMMY SSC OR 33 12.0" 12.0" 11.7" 11.2" 8.9" 8.7" 7.0" 7.1" 4.9" 5.2" 4.0" 4.3"
TAPCON SG, 1-3/4" EMBED 38 12.0" 12.0" 10.6" 10.0" 8.0" 7.8" 6.3" 6.4" 4.4" 4.6" 3.6" 3.8"
§ 45 11.2" 10.7" 9.4" 8.6" 7.2" 6.7" 5.6" 5.5" 3.9" 4.0" 3.2" 3.3"
o 53 10.0" 9.3" 8.4" 7.5" 6.4" 5.9" 5.0" 4.8" 3.5" 3.5" 2.9" 2.9"
) 60 9.2" 8.4" 7.7" 6.8" 5.9" 5.3" 4.6" 4.4" 3.2" 3.2" 2.6" 2.6"
o [1/4"EA MALE BOLT, 1-1/2" 33 12.0" 12.0" 12.0" 12.0" 9.4" 13" 7.4" 9.3" 5.2" 6.8" 4.2" 5.7"
8 EMBED 38 12.0” 12.0" 11.3" 12.0" 8.6" 10.0" 6.7" 8.3" 4.7" 6.0" 38" 5.0"
= 45 120" 12.0" 10.1" 11.0" 7.6" 8.6" 6.0" 7.1" 4.2" 5.2" 3.4" 4.4"
53 10.7" 11.8" 9.0" 9.5" 6.8" 7.5" 5.4" 6.2" 3" 4.5" 34" 3.8"
60 9.8" 10.6" 8.3" 8.5" 6.3" 6.7" 4.9" 5.6" 3.4" 4.1" 2.8" 3.4"
1/4" EA MALE BOLT, 2" 33 12.0" 12.0" 12.0" 12.0" i2.0" 12.0" 12.0" 12.0" 10.7" 10.9" 8.7" 9.0"
EMBED 38 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 9.7" 9.7" 7.9" 8.1"
45 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12" 8.6" 8.5" 7.1" 20"
53 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 11.1" 10.2" i 7.4" 6.3" 6.2"
60 12.0" 12.0" 12.0" 12.0" 12.0" 11.2" 10.1" 9.2" Za 6.7" 5.8" 5.6"
. . 1" MIN EDGE DISTANCE
gl/\,llBsEDHANGAR BOLT, 2 33 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 9.9" 12.0" 6.8" 10.9" 5.6" 9.1"
38 12.0" 12.0" 12.0" 12.0" 11.4" 12.0" 9.0" 12.0" 6.2" 9.6" 5.1" 8.0"
45 12.0" 12.0" 12.0" 12.0" 10.2" 12.0" 8.0" 11.1" 5.6" 8.3" 4.5" 6.9"
53 12.0" 12.0" 12.0" 12.0" 9.1" 11.5" 7.2" 9.6" 5.0" 7.1" 4.1" 6.0"
60 12.0" 12.0" 11.1" 12.0" 8.4" 10.2" 6.6" 8.6" 4.6" 6.4" 3.7" 5.4"
] 1.5" MIN EDGE DISTANCE
- g ANCHOR TYPE LOAD Spans Up To 3'-6 Spans Up To 4'-6 Spans Up To 5'-7 Spans Up To 6'-6 Spans Up To 8'-6 Spans Up To 10'-0
¥ (peh) CONN TYPE CONN TYPE CONN TYPE CONN TYPE CONN TYPE CONN TYPE
I n c1 C2 c1 C2 c1 C2 c1 C2 C1 c2 C1 c2
1/4" HANGAR BOLT, 2" 33 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 9.8" 10.8" 6.8" 7.9" 5.6" 6.5"
THREAD PENETRATION 38 12.0" 12.0" 12.0" 12.0" 11.3" 11.7" 8.9" 9.6" 6.2" 7.0" 5.1" 5.8"
45 12.0" 12.0" 12.0" 12.0" 10.1" 10.2" 7.9" 8.4" 5.5" 6.1" 4.5" 5.1"
53 12.0" 12.0" 11.9" 11.3" 9.0" 8.8" 7.1" 7.3" 4.9" 5.3" 4.0" 4.4"
60 12.0" 12.0" 10.9" 10.1" 8.3" 7.9" 6.5" 6.6" 4.5" 4.8" 3.7" 4.0"
1/4" DEWALT PANELMATE, 33 12.0" 12.0" 12.0" 12.0" 10.5" 11.9" 8.3" 9.8" 5.8" 7.1" 4.7" 5.9"
MALE OR FEMALE, 1-7/8" 38 12.0" 12.0" 12.0" 12.0" 9.6" 10.5" 7.5" 8.7" 5.2" 6.3" 4.3" 5.3"
< | THREAD PENETRATION 45 12.0" 12.0" 11.3" 11.6" 8.5" 9.1" 6.7" 7.5" 4.7" 5.5" 3.8" 4.6"
g 53 12.0" 12.0" 10.1" 10.1" 7.6" 7.9" 6.0" 6.5" 4.2" 4.8" 3.4" 4.0"
J 60 11.0" 11.2" 9.2" 9.0" 7.0" 7.1" 5.5" 5.9" 3.8" 4.3" 3.1" 3.6"
< | 1/4" ITW SAMMY SSC OR 33 12.0" 12.0" 12.0" 12.0" 11.5" 9.4" 9.1" 7.7" 6.4" 5.5" 5.2" 4.6"
5 | TAPCON SG, 1-3/4" THREAD 38 12.0" 12.0" 12.0" 10.8" 10.5" 8.4" 8.3" 6.9" 5.8" 4.9" 4.7" 4.1"
g PENETRATION 45 12.0" 11.6" 12.0" 9.4" 9.3" 7.3" 7.4" 6.0" 5.1" 4.3" 4.2" 3.6"
53 12.0" 10.1" 10.9" 8.3" 8.3" 6.4" 6.6" 5.2" 4.6" 3.8" 3.8" 3.1"
60 11.9" 9.2" 9.9" 7.4" 7.6" 5.8" 6.0" 4.7" 4.2" 3.4" 3.5" 2.8"
5/16" HANGAR BOLT, 33 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 8.5" 12.0" 7.0" 10.1"
3" THREAD PENETRATION 38 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 11.1" 12.0" 7.7" 10.8" 6.3" 9.0"
45 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 9.9" 12.0" 6.9" 9.3" 5.7" 7.8"
53 12.0" 12.0" 12.0" 12.0" 11.3" 12.0" 8.9" 10.9" 6.2" 8.1" 5.1" 6.8"
60 12.0" 12.0" 12.0" 12.0" 10.4" 11.7" 8.2" 9.8" 5.7" 7.2" 4.7" 6.1"
b- 2" MIN EDGE DISTANCE
Spans Up To 3-6" Spans Up To 4-6" Spans Up To 5-7" Spans Up To 6'6" Spans Up To 8-6" | Spans Up To 100"
% E ANCHOR P L(g:f? CONN TYPE CONN TYPE CONN TYPE CONN TYPE CONN TYPE CONN TYPE
In c1 c2 c1 c2 ci c2 c1 c2 c1 c2 (o4 c2
. |1/4" EA MALE BOLT, 1-1/2" 33 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 10.1"
8 Q_ EMBED 38 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 10.9" 12.0" 9.0"
o9 45 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 9.6" 12.0" 7.9"
= o 53 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 12.0" 11.8" 12.0" 8.5" 11.8" 7.0"
60 12.0" 12.0" 12.0" 12.0" i2.a" 12.0" 12.0" 10.7" 12.0" 72.2" 10.8" 6.4"

-
)
o
o
N
i
-
e
g = 2 &
87 ng
s:;azgﬁ
aQ ™
—t o
08 & m
-0 < Zlﬁ
o (O
& =<
[y a)
12 E x
Q,/“ = mm
= =z0
% o:)
ﬁ Z 383
o T -
s tc
3 3
@
EQ 2
=
;

~ W @
<|w oo

MEEEEEREET

El5le BlslS| | e2g2

B D= g

< [=] 3 =

Q=L |o J%=3

SISIGIEIEIES EExp

oSEH

a 2208

X m ooz 2263

T 8332 g8gu

QL |0 || E%E:Q(,

Z =E38g

H mgém HEF=

ELREE 8 |32

FEt-1]

EsEE

283

EEgE

Eegy

= §528

ae

2 £dze

= YEES

EZ2E

”n = GZTE

¥ W 4 cRus

222252 |35:8

< @R ee R g2ge

E_<rl\>o 2HsE

weEls|= I axZo

mzoo&o T aF
Z & & I E

COPYRIGHT FRANK L. BENNARDO P.E.

20-26197

SCALE: - | -

PAGE DESCRIPTION:

OF

6




C:\Users\rickn\Engineering Express\Production - Documents\Projects\20-26197 - FL17003.1 - Eyewall Armor Fabric Shutter MPS\WP\2020 FBC\20-26197d - FL17003.1 - DWG.dwg

rickn

10/06/2020 - 5:25pm

97" MAX SPAN

A—‘ 115/16”7 ’——

ﬁ

15/186"
T

[H
Il

STORM TRIM PLUS

NTS

PVC 0.060" THICK

3

1.3/8”

L

"J” CHANNEL
FILLER

STORM TRIM PLUS "J" CHANNEL

NTS

STORM TRIM ANCHOR SCHEDULE:

PVC 0.060" THICK

I
Il

S——

STORM TRIM PLUS LEGS REMOVED

4
NTS

/ STORM TRIM

2,3,
"7/

(SIMILAR TOP AND BOTTOM.
MAY BE ORIENTED
HORIZONTALLY AS FIELD

CONDITIONS DICTATE)

/1 STORM TRIM MOUNT

7

NTS

ELEV VIEW

CONTINUOUS BEADS
OF URETHANE
SEALANT WITH FULL
COVERAGE BETWEEN
STORM TRIM AND
HOST SUBSTRATE

LHOST STRUCTURE, BY
OTHERS (SEE STORM
TRIM ANCHOR SCHEDULE
FOR OPTIONS)

/2 STORM TRIM PLUS MOUNT

HOST STRUCTURE ANCHOR TYPE IEOAfI)D Spans Up To 4-6" | Spans Up To 62" | Spans Up To 8-1"
ps
3/16" DEWALT ULTRACON, 1-3/4" 35 9.5" 7.4" 4.6"
EMBED, 2-1/2" EDGE DIST. 50 6.8" 5.3" ANCHOR NOTES: SEE SHEET
3/16" ITW TAPCON, 1-3/4" EMBED, 35 10.4" 8.1" 5.0" 3 FOR ANCHOR NOTES.
2-1/4" EDGE DIST. " "
CONCRETE (3ksI |2/ >0 7.4 5.8
MIN.) 1/4" DEWALT ULTRACON, 1-3/4" 35 12.0" 12.0" 8.9"
EMBED, 2-1/2" EDGE DIST. 50 12.0" 10.3" 6.4"
1/4" ITW TAPCON, 1-3/4" EMBED, 35 12.0" 12.0" 8.4"
2-1/4" EDGE DIST. 50 12.0" 9.7" 6.0"
3/16" DEWALT ULTRACON, 1-3/4" 35 8.3" 6.4"
GROUT-FILLED |EMBED, 2-1/2" EDGE DIST. 50 6.0" 4.6"
BLOCK 1/4" DEWALT ULTRACON, 2-1/4" 35 12.0" 9.5" 5.9"
EMBED, 2-1/2" EDGE DIST. 50 8.8" 6.8"
#10 WOOD SCREW, 1-3/4 THREAD 35 12.0" 9.7" 6.0"
WOOD (G = 0.55 PEN., 1-1/2" EDGE DIST. 50 8.0" 6.0 23"
MIN.) #14 WOOD SCREW, 1-3/4 THREAD 35 12.0" 12.0" 9.3"
PEN., 1-1/2" EDGE DIST. 50 12.0" 10.7" 6.7"
#10 WOOD SCREW, 1-3/4 THREAD 35 8.3" 6.5" 4.0"
WOOD (G = 0.42 PEN., 1-1/2" EDGE DIST. 50 6.0" 4.6" 2.9"
MIN.) #14 WOOD SCREW, 1-3/4 THREAD 35 12.0" 10.7" 6.6"
PEN., 1-1/2" EDGE DIST. 50 9.8" 7.6" 4.7"
MAY BE INSTALLED A
TO UNLIMITED WIDTH j/\
! FENESTRATION "
PRODUCT BY CLIPS AT 12 ?.C.
OTHERS MAX UP TO 79" SPAN
STORM TRIM %
WINTDF;OVEF#%WS — 77 CLIPS AT 6" O.C. MAX
’ n
oy OTHERS | { UPTO 97" SPAN
(SHAPE MAY T @
VARY) 7 7 g
FENESTRATION o / PROVIDE (2) CONT. BEADS
PRODUCT BY @ 1 / OF URETHANE W/ FULL
OTHERS la) ? s COVERAGE BETWEEN
pu | STORM TRIM AND WINDOW
PROVIDE (3) 1~ += 4N IVINEANICATAL

I FRAME
P |} /D\
REMFORM SCREW

M6-2.64, (1) PER CLIP
(STAGGER FROM
HOST ANCHORS)

- HOST ANCHORAGE (SEE
STORM TRIM ANCHOR
SCHEDULE FOR OPTIONS)

7

NTS

SECTION VIEW

CONTINUOUS BEADS

SEALANT WITH FULL
COVERAGE BETWEEN

PVC 0.060" THICK

NON-HVHZ ONLY

/-

OTHERS

FENESTRATION
/ PRODUCT BY

PROTRUDING ——~—

WINDOW FRAME,
BY OTHERS
(SHAPE MAY
VARY)

PROVIDE (3) ———
CONTINUOUS BEADS
OF URETHANE
SEALANT WITH FULL
COVERAGE BETWEEN ST
STORM TRIM AND
HOST SUBSTRATE

I e -

T e

DGE DIST.—¢

\

N

i

J

|

|

|

|

|

“
A

|| —

FRANK BENNARDO, PE
PE# 0046549 CA#9885

ST
a ‘",

CLIPS AT 12"
0.C. MAX UP TO
79" SPAN

CLIPS AT 6" O.C.
/MAX UP TO 97"
SPAN

PROVIDE (2) CONT.
BEADS OF URETHANE
» W/ FULL COVERAGE
BETWEEN STORM TRIM

SUILVARYS

-

| AND WINDOW FRAME

L HOST STRUCTURE,

BY OTHERS (SEE
STORM TRIM
ANCHOR SCHEDULE
FOR OPTIONS)

/ 37\ STORM TRIM PLUS "J" CHANNEL MOUNT

REMFORM SCREW
M6-2.64, (1) PER
CLIP

HOST ANCHORAGE (SEE
STORM TRIM ANCHOR
SCHEDULE FOR OPTIONS)

w NTS

FENESTRATION
/ PRODUCT BY

OTHERS

PROTRUDING ——~ | |

WINDOW FRAME,
BY OTHERS

|l

A

(SHAPE MAY
VARY)

PROVIDE (3) -

OF URETHANE

STORM TRIM AND
HOST SUBSTRATE

\

iGE DIST. —¢

? & ﬂmﬁ

%

Gl

—

I

£ )

8
I:

;

SECTION VIEW

CORPORATE OFFICE:
160 SW 12th AVE, SUITE 106
DEERFIELD BEACH, FL 33442
(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

=X

CLIPS AT 12" O.C.
MAX UP TO 79" SPAN

CLIPS AT 6" 0.C. MAX
UP TO 97" SPAN

FL17003.1

0., Inc.

ountry

N
Wholesale Aluminum and Building Products

ADivision of ABC Supply

400 WEST MCNAB ROAD
FT. LAUDERDALE, FL 33309

Town”

4/25/14
2/16/15
10/03/17
4/18/19
7/01/20

PROVIDE (2) CONT. BEADS
OF URETHANE W/ FULL
COVERAGE BETWEEN
STORM TRIM AND WINDOW
FRAME

REMFORM SCREW
M6-2.64, (1) PER
CLIP

HOST ANCHORAGE (SEE

STORM TRIM ANCHOR

SCHEDULE FOR OPTIONS)

HOST STRUCTURE, BY OTHERS (SEE
STORM TRIM ANCHOR SCHEDULE FOR

OPTIONS)

/ 4\ STORM TRIM PLUS LEGS REMOVED MOUNT

7 NTS

SECTION VIEW

FLB

DRWN |CHKD | DATE
KL

ZAR |CSL

RWN |FLB

RWN |FLB

CCB |RWN

REPRODUCED IN WHOLE OR PART WITHOUT WRITTEN CONSENT OF FRANK L.
BENNARDO, P.E. ** ALTERATIONS, ADDITIONS, HIGHLIGHTING, OR OTHER MARKINGS
TO THIS DOCUMENT ARE NOT PERMITTED AND INVALIDATE OUR CERTIFICATION.

THIS DOCUMENT IS THE PROPERTY OF FRANK L. BENNARDO, P.E AND SHALL NOT BE

REMARKS

INIT ISSUE

2014 FBC

2017 FBC

REV - STORM TRIM
2020 FBC

COPYRIGHT FRANK L. BENNARDO P.E.

20-26197

SCALE: | -

PAGE DESCRIPTION:

OF

[




		2021-01-07T10:01:51-0500
	Frank Bennardo




